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Formula for the Day: Midpoint = == Y1ityz

2 ' 2
Find the Midpoint for each set of given points.
1.(-10,-5)and (4,-1) | (~3,-]) 2.(-4,-9) and (10, -11)
X1 M Xz Yz 20 !
Y+ =9+ - (‘—'—‘i = } = (--10)
(—lO*‘I -S + (- z, =z z,
z 2

3.(3,-5)and (0, -2)
(3+0 _ §+( 2)

4.(9,-1)and (10, -11)

/Q-HO - +(- u)} {_%

A

5.(-3,-4) and (3, -3) > 6.(-12,-3) and (5, 11)

_2+3 ~4+(-3)\=/& = £ (_lz+S - 4—U> ‘i _8_}
(32| 9_))(2;2' ?_,32_ 2!2

Find the missing Endpoint, B, given a midpoint, M, and an endpoint, A.

7. A(-5,7)and M (-2, 2) - 8. A(-3,2) dM(4-1) -
(\W)\an gtm Ym (:‘ %7] X1Y, an Xrm Y [” LI)

Xz X\ +Xs 2 —2--5+Xs 4= -3 x,
" — /‘lr-’SHz 24 ——3/ 2-.—1:2:372

e _+3 _*= T B=-34x,
R i s 'S M 1 R
':L _1“'\\1. [l= Xg
9. A(-3,-5)and M (-6, -2) “3=v, 10. A (5, 3) and M (6, 4) "f jz
X\\'/L Xm‘{m X Yz xm"‘m
_[=-3+X -—;?:-S-*‘j =5+ X =
== ‘[(-‘7.132 = e $)
-9 = - X - —-—S+ IR=85+Xx 8=2+
+\3 +%3+ > 4—2 +S jz z e
s _ -4- XZ g:
_q:xZ ' UL D"
11. A(2,5)and M (-1, 3) 12. A(-3,-1)and M (3, -4)
X' Y, X Ym (—”f. l) X1 Wi X Uom (q‘-:;)
-l =2+ %2 3=5S+Y, 3=-2+¥2 ~4=-l+y,
o 2 2 v A
-2=2+Xz2 =5+, b=-3+x,  —B=-l*y,

- Y= x, 1=, 9= %, 1=y,




